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Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. 1-5 and 16-20 are very short answer questions
carrying 1 mark each. They are required to be answered in
one sentence.

4. Question No. 6-8 and 21-23 are short answer questions
carrying 3 marks each. Answers to them should not normally
exceed 60 words each.

58/1/1 2



5. Question No. 9-11 and 24-26 are also short answer
questions carrying 4 marks each. Answers to them should not

normally exceed 70 words each.

6. Question No. 12-15 and 27-30 are long answer questions
carrying 6 marks each. Answers to them should not normally

exceed 100 words each.

7. Answer should be brief and to the point and the above word

limit be adhered to as far as possible.

e 3
SECTION A

1. S« Hiwid drd §¢ @ 8 3 fiHd gied] Jnd g @ 8 a |
AT 3 3aq afiedt g | =1 gay g | 1

What is the relation between marginal cost and average variable
cost when marginal cost is rising and average variable cost is

falling ?

2. TH VT foh uw awg it AR SHEAT seH W A g
(31T TR o @ et et 81 weh feufa o dinia gearfta : (e fompeu
9fe) 1
(a) 3Tad TENfed @ 31feres gt
(b) 3Mud wEmfed & FoH i
(c) Nad genfia & a arft
(d) =3 e
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3.

Suppose total revenue is rising at a constant rate as more and more
units of a commodity are sold, marginal revenue would be :
(choose the correct alternative)

(a) Greater than average revenue

(b) Equal to average revenue

(c) Less than average revenue

(d) Rising

it afy’ e A 37

When does ‘increase’ in demand take place ?

“TTIcaTe’ gHeh! o © : (TR foeRed )
(a) chad qui Tl
OIEEER U IIPE

(c) (a) 3R (b) I

(d) ST H g T

‘Homogenous products’ is a characteristic of : (choose the correct
alternative)

(a) Perfect competition only
(b) Perfect oligopoly only
(c) Both (a) and (b)

(d) None of the above
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5. T BH % 3cq1E I hd R T % i fauda dey e ® (W
ferepea gfo) 1
(a) FAA THIHR H
(b) hact TehITErEhTEh TfTiar |
(c) THIRIRR TR TehTRreRTiR TfcRNfTa gt &
(d) et qut gl §

There is inverse relation between price and demand for the product
of a firm under : (choose the correct alternative)

(a) Monopoly only

(b) Monopolistic competition only

(c) Both under monopoly and monopolistic competition

(d) Perfect competition only

6. U U hael al A&l X 3T Y ol 3TN il 21 X 3R Y
HHId ITARTAT A 5 3 4 g1 X 3R Y &l HHd FO: 4 & 9fd
THE IR 5 & Ul THE ¢ 1 UG Tged H g f ITHedT i AT
wifcifsar =R BN ? THESy| 3
A consumer consumes only two goods X and Y. Marginal utilities
of X and Y are 5 and 4 respectively. The prices of X and Y are Rs.
4 per unit and Rs. 5 per unit respectively. Is the consumer in

equilibrium? What will be the further reaction of the consumer?

Explain.
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7. & FEGST X R Y hil HH-U d FEI: -2 R -3 B TH I
fopEreht himd-wi o @1feren & o =i ?

Price elasticity of demand of good X is —2 and of good Y is —3.

Which of the two goods is more price elastic and why ?

8. 3Tfereraw shimd HiaT fHeior s 27 39es uiony gHeEse?

AT

IS AR AT T HHd o A 8 Al $6h RV T dTel JHE
T TS|
What is maximum price ceiling ? Explain its implications.

Or

Explain the chain effects, if the prevailing market price is below

the equilibrium price.

9. GafUd I¥qeli I FHmal § diEdd & 4 T awg I Wi W g9E
EEEIRY

Explain the effect of change in prices of the related goods on

demand for the given good.

10. 3TE Fod <kl aiears S | sTeTehiet 3T SHehle| IcTe oA
o = We hifsg|
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HIYAT

AT i Rt ) sTee SR afErd! ArTai o s 98 T ST
1 Th—Teh 3TELU Sl 4

Define production function. Distinguish between short run and long

run production functions.

Or

Define cost. Distinguish between fixed and variable costs. Give one

example of each.

11. T 3EH 10 &. id 15 T T %] 1 80 IhTg oh! Tfd ol ol I
1 A T 4 B1 9 %, Tl $oR1S W I8 foha1 gfd i ? 4

A producer supplies 80 units of a good at a price of Rs. 10 per unit.
Price elasticity of supply is 4. How much will he supply at Rs. 9

per unit ?

12. I8 AH R foh IS off gamed aft axqsti & 3cdated U U 99 38 R
TIdT, 39 Ieh 1 ATH FATY ST STegeree shi Icqred &wdl i fa@rdn 2|
ST AT BT FHhT ForvaTy sy | 6

Assuming that no resource is equally efficient in production of all
goods, name the curve which shows production potential of the

economy. Explain, giving reasons, its properties.
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13.

14.

15.

SR a7k farvet T § Iusier dqe i I1d THesY|

Explain the conditions of consumer’s equilibrium using

indifference curve analysis.

“agfd amn 4 uieds’ et “agfd § uReds’’ % e sfa aEEE)
TEfeE 1 A s

Explain the distinction betwen “change in quantity supplied” and

“change in supply”. Use diagram.

e : haa gy wfem ufenfeli & fore wea w@ean 14 & o wy
“amqfd W | ufede SR gl | gitede | ok o STa 99y
QTfeTeRT hT ST ShIfSTT

Note : For blind candidates in lieu of Q. No. 14.

Explain the distinction between ‘“change in quantity supplied” and

“change in supply”. Use schedule.

TS Ul it SR # Freferiaad o aiem a9EmsT

(a) Sharel it S T
(b) AT sl TaTT AR erret it Tardsra

HAAT

Teh ATTERR IR | fAmferiiaa o afony gwemse :

(a) T T TR Ffaa
(b) R-hrma gfe=firar
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Explain the implications of the following in a perfectly

competitive market :

(a) Large number of buyers

(b) Freedom of entry and exit to firms
OR

Explain the implications of the following in an oligopoly

market :

(a) Inter-dependence between firms

(b) Non-price competition

WE T
SECTION B

16. T2ieh sht giLaTT Sifeig) 1

Define stocks.

17. 3= dsiiTa uiErafen & goagm | i 7 2 (U fasew gfim) 1
(a) et G ferams
(b) had TR A=A
(c) Tt ferams R Y3 Tu=eq
(d) Fad AT ST

58/1/1 9 [P.T.O.



Depreciation of fixed capital assets refers to : (choose the correct

alternative)

(a) Normal wear and tear
(b) Foreseen obsolescence
(¢) Normal wear and tear and foreseen obsolescence

(d) Unforeseen obsolescence

18. TSEd =g O 1 3799 7

What is revenue expenditure ?

19. TSN 12T S0 UH BT @ « (T foshed gfw)

(a) IS YTAE
(b) o
(c) SIS YTAH ¥ 0T

(d) U1 52T SIS T

Fiscal deficit equals : (choose the correct alternative)
(a) Interest payments

(b) Borrowings

(c) Interest payments less borrowing

(d) Borrowings less interest payments
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20. 31 faasht fafma omeat w felt foasft fafime Fea o= wveam €
(v forhed gfw) 1
(a) = SH-a
(b) YTt < -

(c) T@ad -

(d) TUTEISH g -

Foreign exchange transactions dependent on other foreign
exchange transactions are called : (choose the correct alternative)
(a) Current account transactions

(b) Capital account transactions

(c) Autonomous transactions

(d) Accommodating transaction

21. HF AT R Had e Ihg I i :

(%. @rEl H)
(i) 10 3 % SiaehT shi TARA ITAT IcaTgeh U 10
(i) ek SN IcuTeeh S 5
(iii) Tersht 20
(iv) a9 % R ScTiad SHfehT AT 2
(v) 3cdred qUeht 1 3
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22.

23.

Find net value added at factor cost :

(Rs. Lakh)
(1) Durable use producer goods with a life span
of 10 years 10
(1i1) Single use producer goods 5
(ii1) Sales 20
(iv) Unsold output produced during the year 2
(v) Taxes on production 1

Huta Ut Jgfa ot 3fwa Susi Jafa & 9 hifs) s aiferhi
38T difSY|

HAYAT

ST T A T H HUHT ohl SR GHETET)

Distinguish between marginal propensity to consume and average
propensity to consume. Give a numerical example.
Or

Explain the role of taxation in reducing excess demand.

U AdeaLen # faw # 300 g % di gig A At 21 Il dmra
I S 2/3 B a1 U o1 gig 3 AR

In an economy investment is increased by Rs. 300 crore. If
marginal propensity to consume is 2/3, calculate increase in

national income.
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24, AM SEAT & = MY ARET B ok T TR T )
2| 3% Hohel TG 3G 3TN FHeAW W BN el Joral o ferversor
i) 4

Government incurs expenditure to popularize yoga among the
masses. Analyse its impact on gross domestic product and welfare
of the people.

25. 51 1 od 999 i 9uEs)| avg fafHe o R 3 gefid
THET 368 o LTS 7

HAYAT

TS 1 G RS HE quese| o g % wRer 0w et
TR 30 8 LTS 7 4

Explain the ‘store of value’ function of money. How has it solved

the related problem created by barter ?

Or

Explain the ‘unit of account’ function of money. How has it solved
the related problem created by barter ?

26. G ISR Sl Ui 01 go W 0 e o fohd YehR werr & 7
HHATRY | 4

Explain how open market operations are helpful in controlling

credit creation.
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27. TR IS FIT &7 THITST o ST 3Tfeieh HEIAT shl TS o forawor
T YT ST oF TTT h8 T foha ST HehdT =1

AT

T 91 § TS TIftd ¥ -1 19 2| gAesy foh et ssie o
SFferaeen ¥ Hiud ferar aF d fora Tehr T=T foman 11 gehd 2|

What is government budget ? Explain how taxes and subsidies can

be used to influence allocation of resources.

Or

Define revenue receipts in a government budget. Explain how
government budget can be used to bring in price stability in the

economy.

28. IUMIT Ik ¥ S=Id gk WTH ShIfGC TR 39 Ufsham H fw S It =/
FATSY | TG Rl ST <hIFSTU|

Given consumption curve, derive saving curve and state the steps

taken in the process of derivation. Use diagram.

e : Fhae ghyde faenfdat & fore wea v 28 & M Wy
3N A o EIZeh GHETST | SUHNT Held § Fd Head ITH hIfSu|

Note : For Blind Candidates in lieu of Q. No. 28.

Explain the components of consumption function. Derive saving
function from consumption function.
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29. (a) YTAH G W@ & fhE 9ol § TR fohd 9 T 9ra | forn
o1 Tt frareT st fopa e ? R S

(b) a4 faeeh e &1 fafme 5t o @ e wem ¢ amEe | 3,3

(@) In which sub-account and on which side of balance of
payments account will foreign investments in India be

recorded ? Give reasons.

(b) What will be the effect of foreign investments in India on

exchange rate ? Explain.

30. U¥ 31 IR fsht 3y 3ma FifsTe

(FUS )
(i) oIl q°r A 1000
(i) Toeen = fae =re] g 20
(iii) ToreeT =1 fFae R ™ &1 JTaE 10
(iv) @™ 400
(v) TEHE 0 WA 120
(vi) TITSTeRt g1 STHTISTh QRaTT STRTEH 100
(vii) TTHR FRT FTe] Tl 60
(viil) TR ! ITH TE A= 150
(ix) T 200
(x) &S 300
(xi) T 50 4,2
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Find national income and private income :

(Rs. crores)

(1) Wages and salaries 1000
(1i1)  Net current transfers to abroad 20
(i11)  Net factor income paid to abroad 10
(iv)  Profit 400
(v)  National debt interest 120
(vi)  Social security contributions by employers 100
(vil)  Current transfers from government 60
(vii1) National income accruing to government 150
(ix) Rent 200
(x)  Interest 300
(xi)  Royalty 50
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